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GROUP -C

Answer all Five Questions.

Y ufg gel & SR Q|

7. Draw the pin diagram of 8051 microcontroller and
explain in brief.

6x5=30

6

8051 AISHIbclaR ® U ARG B wfid qor
dfera ¥ faqaver €

OR (3121a1)
Explain stack pointer and program counter.

WP Wigex dAT U BIS<ex B AT
B |

8. Name the working registers of 8051. Explain in

brief.
6

8051 @ PHRIRA MR &1 A <d U Aidra
A arr 3 |

OR (3121a1)

Name the different addressing modes of 8051 and
explain them.
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Time : 3Hrs. . Sem - YI /E
Micro. & Microcontr.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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8085 @& faU U Rl & Srd B ARAT BN |
IO/M, INTR, INTA, HOLD, READY I

Name the different register of 8051 . Explain any
two.

8051 @& faftr=1 <foreexl &1 I ford qoar
frdl < & ar=aT B |

OR(3721dT)
What do you mean by SFR in 8051 ? Explain.
8051 ¥ UHoUBo3Ro ¥ &RIT YHS[A 27
AT Y |

Name the timers and counters of 8051 and explain

any two.
4

8051 @ CTISHRY Ud HIS~eX &l ford aeIr
frgl <1 & AT & |

OR(3721dT)

Classify the instructions of 8051 in different groups
and explain any two giving examples.

NT6024

(i)

(iii)

(iii)

(iv)

3 1620605C

8085 HISHIYIUER d HIF AT Wb
SXIATe 8Idr 87

(31) FIFO

(d) FILO

(|) LIFO

() LILO

In an instruction of 8085 microprocessor how
many bytes are present ?

(a) One, or two

(b) Only , two or three

(c) Only one

(d) Two or three

AEHIYIEER & fHdl srgaer 4 s
CIECI S G

(@) TH ar

@) ®p, < ar A=

(&) ®ad b

() <1 a1 &=

Which of the following addressing mode is
used in 8085 up ?

(a) Register

(b) Immediate

(c) Register Indirect

(d) All of the above

P.T.O
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Which special function register (SFR) plays

a vital role in the time counter mode selection
process by allocating the bits in it ?

(a) TMOD

(b) TCON

(c) SCON

(d) PCON

TIZMR HIS<X A€ H HI9 AT WA
B IR fae &1 e s3
BT el 3T BT = |

(1) TMOD

(€) TCON

(d) SCON

() PCON

NT6024

(vi)

(vii)

(vii)

(viii)

5 1620605C

roL A R RST7.5 o 2l
(31) DT , 9 ARD A

(d) THRD I, ARDIA

(4) 9rhad, ARdEd

() 39 9 BIg T8

Programmable logic arrays uses :
(a) RAM matrices

(b) ROM matrices

(c) PROM matrices

(d) Silo memory

T &1 AR difiie g saard
BT 2 |

(3n) X9 #Afcw

(@) 9 #Afcw

(&) w9 #Afesd

(?) HWer aw

Accumulator is a

(a) Permanent storage register
(b) Temporary storage register
(c) Special storage register

(d) None of these
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8051 ¥ ... 16 fae ®Ie<X /IR
2|

(31 1

@) 2

(@) 3

(]) 4

In 8051, What is the default volume of stack
once after the system undergoes the reset
condition ?

(a) 0O7TH

(b) 08H

(c) 09H

(d) 00H

8051 # W9 Rvew RAc Reafa 9 smar
2, dl W& &I Sblec I T & ?
(1) o7 H

() 08 H

(|) o9 H

(?) oo H

In 8051, which flags represent the least
significant bit (LSB) and most significant bit
(MSB) of program status word respectively ?
(a) Parity flag & carry flag

(b) Parity flag & auxiliary carry flag

(c) Carry flag & overflow flag

(d) Carry flag & auxiliary carry flag

NT6024

x)

(xi)

(xi)

(xii)

7 1620605C

8085 HISHIYIIER &I AHNT Tg R
g9dr 8 —

(31) 32 Kb

(9) 64 Kb

(|) 256 Kb

() 512 Kb

Which of the following is not an addressing
Mode of 8051 ?

(a) Register instructions

(b) Register specific instructions

(c) Indexed addressing

(d) None of the above

399 ¥ B9 8051 &I IS Als L)
27

(31) o Q™

@) =foex falkre s

(A) a9 g RT

(@) 379 4 ®Ig =T

The external interrupts of 8051 can be
enabled by.

(a) 4 LSBs of TCON register

(b) Interrupts enable

(c) Priority register

(d) All of the above
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10.

8051 @ faftr=1 vSRIwT WM &1 7w ford
TAT SHAD! ATET B |

Explain the different levels of priority interrupts in

8051 microcontroller.
6

8051 HISHIP—<loR & YR—NIE g &
faftr=1 wav @ @A Y |

OR (3121a1)

How are the interrupt of 8051 enabled. Explain.

8051 ® S-eX© Bl T4 HA HId © 7
AT BN |

What do you mean by serial port of 8051 ? Explain
the different operating modes of port.

6
8051 @ HIRAl 4Id & ¢ar g3 2 ? SU®
faffr=1 sfRfeT His & =T o |

OR(37214T)
Write an assembly language program to find the
largest number in data array for 8085

MmiCroprocessor.

P.T.O
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10.

8051 @ fafyr=1 vSRHT Ws &1 7 ford
AT SHD! AT BN |

Explain the different levels of priority interrupts in

8051 microcontroller.
6

8051 HISPHIb IR & YINIE e @
faftr=1 wr ) @

OR (3121d1)

How are the interrupt of 8051 enabled. Explain.

8051 @ S-<X© Bl TAd A HId © ?
ATET BN |

What do you mean by serial port of 8051 ? Explain
the different operating modes of port.

6
8051 & WIS UId ¥ Fa1 guzd & ? sUd
faf=1 sfRfeT M &1 AT o |

OR(3721dT)
Write an assembly language program to find the
largest number in data array for 8085

MiCroprocessor.
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